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6.3% 600g ~ 100°C #h7k#v 600g ~ 20°C #iE M R4 > BB — KA REBE
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755388 (1) & B £ £ Boyle's law)#2(2) & 32 & 42 (Charle's law) ° (5)ié2% HEA
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SVHERARNEH % — A - (2)1kg #57K(0.001m) A 1 K R 1 L 48 3 i
B2 1.67Im° Z B H - EIEN T » K2R Ab# A 540Kealkg o &3 H A LB AT
Yz R Z Ak - (I ARE=1.013x10° N/m?) (4 %)

9. (1)35 3.5 B 45 £ #£(Coulomb's law) » (2) 3£ 32,80 T & £ 1451 £ 44 (coulomb) &y & £ (4
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1 ~ # 25.00 mL 8HEEE 2 EEE 25mL BRI » S ZBEE 19.7325 77 » BA—E 25.0920
THISEER - B ZEENE 25ml BRI - RS BRI RERE 43.02 7 EESEER
FERS(g/mL) ?

2 ~ SRS oL &Sk 31.04%F0E, 68.96% @ Rl {t& e EXSM ? (RF&
£k=47.88 » £i=35.453)

3 BB S C, H, N =553 » 3 5.024 mg B BEE K 13.9 mg CO, 71 6.048 mg H,0, S5t
HHERR - (HFE » C=12.01, H=1.008, N=14.01, 0=16)

4~ R FEHIHER 330 nm W9 - HEEFE TR 4p 3 3s - FIMEENREREEE S D
(KJ/mol) ? (h=6.626 x 1027 - s Sii= 3.00x 10° mys)

5 ~ EHNGERBA T AS-FHIEAR -

(a) HyO (.53 6A IRTTER)
(b) CCly (xS 4A RIGHE)

6 ~ IEHSRERI AV INGES T TS E (R R Z/NEES )
LiCl, KXCl, KBr, MgCl,
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8 ~ 7E MY R FEF EE AR (AR 7
(a) 30Hg188 — 19 Au 188 + 7
(b) gsAt S — Bt + 9
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